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Context

This paper will analyse the state of competition in the London Insurance Market. More specifically, it will analyse the nature of competition for a large retail and commercial insurer with a focus on both Lloyd’s and company markets. It sources its business from around the globe and therefore although the London Market is the one being analysed, factors from outside the UK will be considered to the degree they impact the London Market.

Porter’s Five Forces

Porter identified five forces which he perceived to allow a company to analyse the state of competition in a market. He has argued that by looking at the operation of these forces in any given industry, a company will be able to identify the elements that are either constraining or driving profitability. They are as follows:

· Supplier power

· Buyer power

· Threat of new entrants

· Threat of substitutes

· Rivalry

Supplier power

Supplier power describes the extent to which suppliers influence the profits obtained by the industry in question. All companies within all industries have suppliers of some sort, whether it be of labour, raw materials or more complete services. When suppliers are powerful, they can ‘exert an influence on the producing industry, such as selling raw materials at a high price to capture some of the industry’s profits’ (Quickmba). This is more likely to happen where the buyer is constrained in terms of where it can source the product it requires.

Porter’s own example of such an industry where certain suppliers have power is the pharmaceutical industry. He argues that companies that supply specialist or patented drugs to hospitals and other health organisations exercise more power than those companies’ supplying generic types of drug (Porter, M. 2008). This is simply because those supplying the patented product are supplying something the buyer is unable to source elsewhere. Hence, to some degree, the supplier can charge what they wish.

Buyer power

If there is a high level of buyer power in an industry then it means buyers have the ability to influence the price. This is most commonly the case when buyers are concentrated, when a single buyer purchases a significant quantity of the supplier’s output or when buyers possess the ability and therefore threat to buy out the supplier (Quickmba).

An example of such a scenario is supermarkets. Entities such as Tesco and Sainsbury’s are hugely powerful organisations and can exert significant influence over their suppliers. This may not be the case to the same extent where the supplier is a global brand such as L’Oreal given buyers of their products are not concentrated, they sell to numerous buyers across the globe and they are not at threat of a buyout by any of those buyers. Meat suppliers, on the other hand, may be far smaller organisations. It is likely that they will only supply one supermarket. That supermarket can therefore exert significant pressure on the farmer supplying their meat. 

Threat of new entrants

‘The threat of entry…puts a profit cap on the profit potential of an industry’ (Porter, 2008) If the threat of entry from potential new competitors is high then the industry incumbents will have to hold down their prices to make such entry less attractive. The degree to which the entry of new players is a threat depends to a large degree on the barriers to entry for that industry.

Barriers to entry ‘are advantages that incumbents have relative to new entrants’ (Porter, 2008). These barriers can be high or low. When they are high, it will be difficult for new players to enter the market and the opposite is true when the barriers are low. Barriers to entry can be summarised as follows:

· Capital costs – some industries require much capital

· Marketing costs – need to spend money on marketing to make people aware of the brand

· Sunk costs – these are essentially set up costs that cannot be recovered if the company latterly withdraws from the market

· Legal and regulatory barriers (Harwick, 2012)

Porter (2008) would argue that supply side economies of scale and demand side economies of scale favour large industry incumbents and are therefore effective barriers to entry as is the access to greater numbers of distribution channels that incumbents will have.

Threat of substitutes

Substitutes are goods that are different but can be used instead of the product in question. Train travel is an obvious substitute for air travel in some areas of the world.

Price elasticity of demand (PED) describes how much demand changes relative to price. If PED is said to be elastic then the demand for the product in question will change significantly when there is a change in price. If PED is inelastic, the demand will not change greatly when there is a price change. If there are many substitutes for a product then the PED will be elastic and the ability of a certain industry to raise prices will be blocked.

Degree of rivalry

‘In the traditional economic model, competition drives rival firms’ profits to zero.’ When such rivalry is low, the industry is said to be disciplined, when rivalry is high there will be a need for firms to differentiate (Quickmba).

Porter’s fifth force – industry rivalry – describes the nature of the industry in question. It determines the degree to which the existing participants in the industry are competing with one another. Porter has commented:

‘One may believe that a faster cycle time or total quality hold the key to competing, but the acid test comes in how these practices affect industry rivalry, a company’s relative cost position, or its ability to differentiate itself and command a price premium.’ (Porter, M. 1980)

So when industry rivalry is high, there will be a need for companies to differentiate themselves to a greater extent than when rivalry within the industry is low.

Competition in the London Market

The context of the London Market has already been discussed but it is important to clarify that the London Market has a wide and varied product base and sources its business from across the globe. Some of the main areas are the property and casualty markets and generally competition in the industry is high.

It is important that the industry is not looked at in a time ‘snap-shot’ but instead it should be looked at over the whole cycle (Porter, M. 2008). Therefore, rather than focusing on the industry and the rivalry in it at a specific point in time, this paper will analyse the general status of the industry over a slightly longer period of time. The key elements of the industry on which the later analysis has been based is as follows:

· Rivalry is always present in the industry with many companies competing for the same business.

· Although investment returns are low now, that has not always been the case. However, it is expected that these returns will remain low for the foreseeable future.

· Capital requirements have increased significantly recently. This will not change going forward given these requirements have been imposed in the wake of the 2008 financial crisis and are now part of EU regulations such as Solvency II.

· The higher capital requirements will, in turn, limit the investment returns because less money can be invested in a less liquid form.

· Substitutes are becoming more prominent. This will not change going forward given companies and individuals are always looking for cheaper ways of protecting themselves. This desire for lower prices and therefore alternative solutions to insurance has been furthered by the 2008 crisis.

Porter’s Five Forces and the London Market

The state of the London Market will now be analysed using Porter’s Five Forces. Some of the factors discussed by Porter have a greater impact on the insurance market than others and this will be identified by detailing for each force the extent to which it constrains industry profitability. Why each has been focused upon or largely disregarded will be explained in each case.

Supplier power

The most obvious suppliers in the London Market are the brokers. They produce and place the business with insurers and, as a result, insurers are reliant upon them. Further they command high commissions of up to 30% of the premium for the work that they do. Large brokers such as Marsh, Aon and Willis have a degree of power over even the larger insurers simply because of their sheer size. Insurers cannot afford to have anything but a good relationship with such brokers because they supply such a large proportion of the business. Equally, their dominance allows them to command high commissions.

Brokers as suppliers in the insurance industry are not considered to constrain profit through brokerage. This is because they have charged such for many years and the industry has often operated in a highly profitable manner despite it. The core area in which brokers have the ability to constrain profit is on a per company basis where if the larger brokers refuse to place business with a certain company due to poor relationships then the profits of that company will be reduced simply because their access to business will be limited.

Buyer power

Massey et al (2005) argued the extent of buyer power depended on a number of factors:

· Whether the cost of the product is a significant factor

· Whether the product is of high importance

· The level of switching costs

· Information available to buyers

Buyers of insurance are now not necessarily less knowledgeable in the relationship between insurer and customer because the access to information has greatly improved (Strategy Inc.). Buyer power is prominent in the London Market as a result and is compounded by price being a significant factor in which insurance policy is bought and switching costs being low. This is particularly true for the consumer elements of the London Market where the number of providers is high. Some more specialised commercial lines will have less capacity in the market meaning the options of who to insure with will be constrained. Further commercial entities may be more concerned about the quality of the product than price.

Nevertheless buyer power in the London Market will constrain profit given price will always be one of the key determinants in an insureds choice of which insurance to buy and switching costs are low. Buyers also have the option to move outside of the London Market and, for example, purchase their insurance in the US market. Further, the level of information available to them about the market is high either via brokers or the internet.

Threat of new entrants

The financial services industry is not at threat of new entrants which will be mass-market players. There is only a threat of niche players (Strategy Inc.). This is because the barriers to entry are high.
In the London Market, there are many regulatory barriers posed by both the FSA and the EU that make it hard for a new insurance company to be set up. Further, there are significant sunk costs that need to be employed, one of the greatest of which is the employment and training of staff. Finally, but perhaps most importantly, there are significant capital requirements for companies operating in the insurance industry (Harwick, 2012). A new company would need to raise a substantial amount of capital in order to have a sufficient solvency margin. These capital requirements have increased in the wake of Solvency II. Given the number of established companies in the London Market already, a new company would be likely to find it hard to persuade investors that they were a good investment. A new entrant, therefore, may find it hard to raise the required capital.

The extent to which the threat of new entrants constrains profits is therefore low.

Threat of substitutes

Insurance has always been one of the risk manager’s main tools but this could be changing (Jablonowski, 2006)). Substitutes for insurance and different forms of insurance are becoming more prominent in both the catastrophe reinsurance market, which is a large source of income for the London Market, as well as in the more main stream areas of insurance.

‘Traditional reinsurer price discipline has been slipping’ which is seen ‘as a response to the increased competition from insurance-linked securities (ILS)…ILS is becoming an increasingly accepted and mainstream asset class’ (Artemis, June 2013). Insurance linked securities are capital products whose profits are linked to the extent of catastrophes in the world for a given period. They are not linked to the general fluctuations of the financial market and are therefore becoming prominent as a method for funds to spread their risk. They are able to offer significant collateral and they are offering lower rates than traditional insurers.

These ILS products are therefore substitutes for traditional insurance and they are constraining profit with property catastrophe reinsurance renewal prices down an average of 15% but as much as 30% (Artemis, June 2013). The availability of substitutes, as discussed previously, means that PED is becoming more elastic – as traditional insurers raise or even hold their prices, there will be a significant drop in demand.

Degree of rivalry

Rivalry has always been present in the London Market with participants competing for market share. Porter (2008) argued that rivalry is particularly high when certain factors are applicable and some of these factors are present in the London Market. There are numerous companies of a roughly even size. Although there are large players such as Munich Re, Hannover Re and Swiss Re that dominate, on the whole numerous companies have the same ability to compete for the same business. Secondly, the economic crisis of five years ago is ongoing. This means that industry growth has slowed, something that Porter argues increases rivalry. Thirdly, the products being sold are largely the same making it hard for companies to differentiate on the basis of the product, this is particularly the case in the more mainstream lines of business. Fourthly, there are high fixed costs in the London Market with staff being one of the main costs for an insurance company. This means that even when income is lost, the costs remain. Finally, the increasing requirements for capital in the wake of Solvency II mean that companies will fight for the profitable business to a greater degree as they need to ‘fund’ the capital they are holding.

Although there has been a long-term profitability for established companies in the market and the degree of rivalry has varied according to state of the underwriting cycle at any point in time, the above factors are driving rivalry in the current market. Such has been furthered by the emergence of agreements such as that between Berkshire Hathaway and Aon which gives Berkshire 7.5% of all Aon’s subscription business placed in Lloyd’s (Artemis, March 2013). This shrinks the business available to other companies. The substitutes discussed above will also increase the rivalry as the same number of companies compete for less business.

The key competencies necessary for a company to succeed in this market:

In order to ascertain what the key competencies are that are required of a company to succeed in the market, it is first necessary to fully ascertain which factors are constraining profitability in the market (Porter, M. 2008):

· Supplier power – this has been identified to have the potential to constrain profitability on a per company basis.

· Buyer power – this has the potential to constrain profitability in consumer markets in particular because of the high number of providers and the large volume of information they now have.

· New entrants – this is not really constraining profits.

· Substitutes – this is constraining profitability in established markets such as motor, medical and property and catastrophe reinsurance.

· Rivalry – this can constrain profits across the industry. This has always been the case though and will fluctuate with the underwriting cycle. It is nevertheless increasing to some degree with the new capital requirements.

In line with the above, four key competencies have been identified that will enable a company to be successful in the London Market:

1. Positioning of the company – Porter (2008) identified that Paccar, a US heavy truck manufacturer, had succeeded in a competitive industry because it had found a sector of the industry where the competitive forces were weaker. It has had years of success targeting the owner-operator market. 

In order to succeed in the London Market therefore, a company needs to write business in areas where there is less capacity. Doing so would cut out the profit constraints caused by buyer power, substitutes and rivalry. It would be advisable for a company to move into niche market areas therefore, such as Cyber risk and fracking. In these areas, a company could become a market leader and would therefore be able to set their own terms and have greater price flexibility. An example of when this has been successful in the past is post 9/11 when there were very few terrorism underwriters. However, those that did write the business were operating in a niche environment and were highly successful as a result of being able to apply high rates.

2. Shaping the industry structure – Porter (2008) also argues that a company needs to shape the industry structure. Removing rivals would not be of benefit as the profit windfall would simply encourage new entrants. It is better, therefore to lead the industry. This clearly links with the first point above. This combats the problems posed in the traditional lines of business by substitutes.

A company needs to find a way to shape the current industry in a new way. An example would be the way in which Insure the Box have changed the motor insurance industry – they are attempting to reshape the motor industry to become a market where the price of insurance is correlated directly to driving performance.

3. Emerging markets – In order to negotiate the problems posed by buyer power, industry rivalry and the threat of substitutes, a company would be advised to focus on emerging markets where these forces are weaker. Latin America is an example of an emerging market over the last ten years (Actuarial Post). The benefit of such a market is that the substitutes are largely present in the established markets and that there is limited capacity in the emerging market meaning competition is lower. An element for the ongoing success of a London Market company will be to continue to identify and operate in the emerging markets around the world.

4. Relationships with suppliers – This will help to combat the constraints put on profitability by supplier power. Relationships with brokers become essential in a highly competitive market. Business can only be written, on the whole, in the London Market, if it is presented to insurers by brokers. It is essential, therefore, to ensure that as an insurer, you are seeing all the business you can; the more you see, the more you are likely to write. Good broker relationships should ensure that a steady supply of business is maintained.
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